do / dA@ [pDb]

Ratio to CMS

=
o
(6]

=
o
S

=
o
w

10?

10

[EEY

0.5

7000 GeV pp bb
- r - r - rT T oo T T T T T T T g
= 3Hc
= r Ho
= AQ(b-jets) (pTJIeaol > 120 GeV, thead| <3) 33
- 1

o
— — v
= =K
— Jo
- = 15
™
= — 0
= u 3=
- - 7%
- 1=
- ™
@
— -1 M
©
— — O
— =M
— —
— 1.2
B 1%
| m CMS =
= Pythia-6.423 def 3 g
— efault 45
Q
B 1 wn
| _|©o
= =5 O
= 32
| P I I IR B | P I I IR B | P I I IR | =
:l T T T T | T T T T | T T T T | :
— =2
/A 1
| —0.5

l

0

A between two B hadrons



	Contents
	Page 1


